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Cluster: 0104 ptr; resid: 0.29; r/c: 24/69

x.range

upstream meme PSSM #1; e=81

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=81

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11
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12578
19705

17885

12538

12583

14887

23423

27508

32083

33827

38413
42659

43133

43489

44888

44898

45343

45679

45966

46005

46440

47229

48707

55090

string −500 −400 −300 −200 −100 −1
44898−0.01
17885−0.08
12583−0.16
45966−0.20
33827−0.23
27508−0.32
42659−0.42
46440−0.44
14887−0.46
48707−0.48
45679−0.53
43489−0.58
44888−0.64
12538−0.94
38413−1.02
43133−1.14
46005−1.35
45343−1.63
47229−4.94
19705−5.17
32083−6.86
12578−7.19
23423−18.01
55090−18.01

log10(P) upstream meme1 2 log10(P.clust)=−2.95; 24 seqs; 24 uniq
c(0.5, 2.5)
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